

## **City of Tempe**

## **Bid Tabulation**

Bid Date 01/23/2020 Bid Time 0900

## **BUS PULL OUT - TEMPE LIBRARY Project No. 6008511D**

## Base Bid

Item No.	Item Name	Quantity Unit Eng. Est.		Eng. Est.	DBA CONSTRUCTION, INC	LINCOLN CONSTRUCTORS, INC	STRATTON BUILDERS
				Unit Cost Total Cost	TION,	TORS,	
1	CONSTRUCTION WATER (ALLOWANCE)	1	AL	\$1,000.00 \$1,000.00	\$1,000.00 \$1,000.00	\$1,000.00 \$1,000.00	\$1,000.00 \$1,000.00
2	TEMPORARY SIGNAGE AND MARKING (ALLOWANCE)	1	AL	\$5,000.00 \$5,000.00	\$5,000.00 \$5,000.00	\$5,000.00 \$5,000.00	\$5,000.00 \$5,000.00
3	CONSTRUCTION FENCING	1	LS	\$5,000.00 \$5,000.00	\$4,500.00 \$4,500.00	\$3,500.00 \$3,500.00	\$7,800.00 \$7,800.00
4	CONSTRUCTION SURVEY	1	LS	\$4,600.00 \$4,600.00	\$8,500.00 \$8,500.00	\$6,500.00 \$6,500.00	\$13,530.00 \$13,530.00
5	TREE AND PLANT WATERING	1	LS	\$500.00 \$500.00	\$1,100.00 \$1,100.00	\$2,500.00 \$2,500.00	\$5,000.00 \$5,000.00
6	DUST CONTROL/SWPP	1	LS	\$1,000.00 \$1,000.00	\$1,400.00 \$1,400.00	\$2,500.00 \$2,500.00	\$6,500.00 \$6,500.00
7	CONCRETE VERTICAL CUB, SAWCUT AND REMVE	394	LF	\$10.00 \$3,940.00	\$5.00 \$1,970.00	\$6.00 \$2,364.00	\$10.00 \$3,940.00
8	CONCRETE DRIVE, SAWCUT AND REMOVE	1238	SF	\$10.00 \$12,380.00	\$2.50 \$3,095.00	\$3.00 \$3,714.00	\$10.00 \$12,380.00
9	CONCRETE SIDEWALK, SAWCUT AND REMOVE	2903	SF	\$10.00 \$29,030.00	\$2.50 \$7,257.50	\$3.00 \$8,709.00	\$10.00 \$29,030.00
10	ASPHALT PAVING, SAWCUT AND REMOVE	1366	SY	\$15.00 \$20,490.00	\$6.50 \$8,879.00	\$20.00 \$27,320.00	\$45.00 \$61,470.00
11	PRECAST SAFETY CURB, REMOVE	1	LS	\$125.00 \$125.00	\$165.00 \$165.00	\$150.00 \$150.00	\$1,000.00 \$1,000.00

1/23/2020 Page 1 1/23/2020

12	BUS SHELTER TYPE A, SALVAGE	1	LS	\$2,000.00 \$2,000.00	\$500.00 \$500.00	\$2,500.00 \$2,500.00	\$10,000.00 \$10,000.00
13	SITE FURNISHINGS, SALVATE	1	LS	\$500.00 \$500.00	\$250.00 \$250.00	\$500.00 \$500.00	\$5,000.00 \$5,000.00
14	POST AND SIGN, REMOVE	1	LS	\$500.00 \$500.00	\$170.00 \$170.00	\$2,000.00 \$2,000.00	\$500.00 \$500.00
15	AREA LIGHT, REMOVE	1	LS	\$1,000.00 \$1,000.00	\$580.00 \$580.00	\$500.00 \$500.00	\$1,000.00 \$1,000.00
16	MISCELLANEOUS ELECTRICAL, REMOVE	1	LS	\$2,000.00 \$2,000.00	\$1,700.00 \$1,700.00	\$2,000.00 \$2,000.00	\$1,500.00 \$1,500.00
17	TREE GRATE AND FRAME, REMOVE	1	LS	\$500.00 \$500.00	\$170.00 \$170.00	\$500.00 \$500.00	\$750.00 \$750.00
18	DECOMPOSED GRANITE, REMOVE	1	LS	\$50.00 \$50.00	\$170.00 \$170.00	\$500.00 \$500.00	\$1,000.00 \$1,000.00
19	TREE AND STUMP, REMOVE	1	LS	\$3,000.00 \$3,000.00	\$550.00 \$550.00	\$3,500.00 \$3,500.00	\$13,247.00 \$13,247.00
20	SHRUB, REMOVE	1	LS	\$50.00 \$50.00	\$190.00 \$190.00	\$500.00 \$500.00	\$500.00 \$500.00
21	IRRIGATION SYSTEM, REMOVE AND RELOCATE	1	LS	\$1,000.00 \$1,000.00	\$2,500.00 \$2,500.00	\$2,500.00 \$2,500.00	\$5,000.00 \$5,000.00
22	RIPRAP	1	LS	\$600.00 \$600.00	\$840.00 \$840.00	\$750.00 \$750.00	\$2,500.00 \$2,500.00
23	SUBGRADE PREPARATION	1485	SY	\$40.00 \$59,400.00	\$12.50 \$18,562.50	\$6.00 \$8,910.00	\$18.00 \$26,730.00
24	ASPHALT CONCRETE PAVEMENT	1290	SY	\$110.00 \$141,900.00	\$41.50 \$53,535.00	\$45.00 \$58,050.00	\$22.00 \$28,380.00
25	TRAFFIC STRIPING	1	LS	\$550.00 \$550.00	\$700.00 \$700.00	\$3,500.00 \$3,500.00	\$5,000.00 \$5,000.00
26	CONCRETE CURB AND GUTTER, TYPE 220	119	LF	\$25.00 \$2,975.00	\$42.00 \$4,998.00	\$28.00 \$3,332.00	\$36.00 \$4,284.00
27	CONCRETE SINGLE CURB, TYPE 222	262	LF	\$20.00 \$5,240.00	\$35.00 \$9,170.00	\$22.00 \$5,764.00	\$28.00 \$7,336.00
28	CONCRETE CURB TRANSITION, TYPE 222 (MODIFIED)	1	LS	\$200.00 \$200.00	\$360.00 \$360.00	\$250.00 \$250.00	\$2,000.00 \$2,000.00

1/23/2020 Page 2 1/23/2020

29	CONCRETE VALLEY GUTTER, TYPE 240 (MODIFIED)	51	LF	\$50.00 \$2,550.00	\$52.00 \$2,652.00	\$37.00 \$1,887.00	\$30.00 \$1,530.00
30	CONCRETE PAVEMENT, CLASS A	194	SY	\$135.00 \$26,190.00	\$155.00 \$30,070.00	\$125.00 \$24,250.00	\$12.00 \$2,328.00
31	CONCRETE SIDEWALKS, 4" THICK	1116	SF	\$5.00 \$5,580.00	\$8.00 \$8,928.00	\$5.00 \$5,580.00	\$10.00 \$11,160.00
32	DETECTABLE WARNING	30	SF	\$50.00 \$1,500.00	\$33.00 \$990.00	\$45.00 \$1,350.00	\$40.00 \$1,200.00
33	CONCRETE SIDEWALKS, SALT FINISH, 4" THICK	1561	SF	\$7.00 \$10,927.00	\$8.00 \$12,488.00	\$6.00 \$9,366.00	\$13.00 \$20,293.00
34	VALVE BOX GRADE ADJUSTMENT	1	EA	\$400.00 \$400.00	\$1,000.00 \$1,000.00	\$250.00 \$250.00	\$845.00 \$845.00
35	CONSTRUCTION POTHOLING (ALLOWANCE)	1	AL	\$5,000.00 \$5,000.00	\$5,000.00 \$5,000.00	\$5,000.00 \$5,000.00	\$5,000.00 \$5,000.00
36	TRAFFIC CONTROL (ALLOWANCE)	1	AL	\$10,000.00 \$10,000.00	\$10,000.00 \$10,000.00	\$10,000.00 \$10,000.00	\$10,000.00 \$10,000.00
37	PRECAST SAFETY CURB, CONCRETE	6	EA	\$105.00 \$630.00	\$150.00 \$900.00	\$100.00 \$600.00	\$200.00 \$1,200.00
38	TREE, 36" BOX	4	EA	\$750.00 \$3,000.00	\$1,325.00 \$5,300.00	\$1,200.00 \$4,800.00	\$1,000.00 \$4,000.00
39	TREE, 24" BOX	3	EA	\$400.00 \$1,200.00	\$625.00 \$1,875.00	\$750.00 \$2,250.00	\$750.00 \$2,250.00
40	SHRUB, 5-GALLON	14	EA	\$25.00 \$350.00	\$60.00 \$840.00	\$75.00 \$1,050.00	\$50.00 \$700.00
41	SHRUB, 1-GALLON	3	EA	\$12.00 \$36.00	\$30.00 \$90.00	\$25.00 \$75.00	\$20.00 \$60.00
42	TURF, SOD	334	SF	\$1.00 \$334.00	\$8.00 \$2,672.00	\$3.00 \$1,002.00	\$3.00 \$1,002.00
43	DECOMPOSED GRANITE, 1/2" SCREENED	484	SF	\$0.80 \$387.20	\$5.00 \$2,420.00	\$1.50 \$726.00	\$2.00 \$968.00
44	TREE GRATE AND FRAME	4	EA	\$2,200.00 \$8,800.00	\$3,400.00 \$13,600.00	\$2,000.00 \$8,000.00	\$2,425.00 \$9,700.00
45	TREE DRIP IRRIGATION	1	LS	\$1,050.00 \$1,050.00	\$1,400.00 \$1,400.00	\$3,500.00 \$3,500.00	\$5,000.00 \$5,000.00

1/23/2020 Page 3 1/23/2020

46	SHRUB/GROUNDCOVER DRIP IRRIGATION	1	LS	\$425.00	\$800.00	\$1,500.00	\$5,000.00
40	SHROB/GROUNDCOVER DRIF IRRIGATION	1	LO	\$425.00 \$425.00	\$800.00	\$1,500.00	\$5,000.00
				<b>Φ425.00</b>	φουυ.υυ	\$1,500.00	\$5,000.00
47	SPRINKLER HEAD AND LATERAL ADJUSTMENT	1	LS	\$1,000.00	\$1,200.00	\$1,500.00	\$5,000.00
				\$1,000.00	\$1,200.00	\$1,500.00	\$5,000.00
40	SCUPPER WITH STEEL PLATE	4	Γ.	¢4,000,00	¢0.700.00	фС <u>гоо</u> оо	¢40,000,00
48	SCUPPER WITH STEEL PLATE	ı	EA	\$4,000.00	\$8,700.00	\$6,500.00	\$10,000.00
				\$4,000.00	\$8,700.00	\$6,500.00	\$10,000.00
49	POST AND PANEL SIGNAGE	1	LS	\$2,500.00	\$6,400.00	\$5,000.00	\$1,000.00
				\$2,500.00	\$6,400.00	\$5,000.00	\$1,000.00
50	ELECTRICAL CONDUIT AND CONDUCTORS	1	LS	\$825.00	\$2,100.00	\$7,500.00	\$5,000.00
				\$825.00	\$2,100.00	\$7,500.00	\$5,000.00
51	ELECTRICAL PABEL AND CONTROLS FOR TILTED	1	LS	\$1,000.00	\$2,600.00	\$6,500.00	\$15,000.00
•	LANDSCAPE, MODIFY EQUIPMENT			\$1,000.00	\$2,600.00	\$6,500.00	\$15,000.00
				ψ1,000.00	Ψ2,000.00	ψο,σσσ.σσ	ψ10,000.00
52	ELECTRICAL PULL BOX	1	EA	\$350.00	\$580.00	\$1,500.00	\$5,000.00
				\$350.00	\$580.00	\$1,500.00	\$5,000.00
53	BUS SHELTER LIGHT	1	EA	\$1,800.00	\$1,700.00	\$3,500.00	\$2,500.00
55	DOO OFFICE LIVEROFFE	1	LA	, ,			
				\$1,800.00	\$1,700.00	\$3,500.00	\$2,500.00
54	POLE MOUNTED AREA LIGHT	1	EA	\$5,000.00	\$7,700.00	\$8,500.00	\$6,500.00
				\$5,000.00	\$7,700.00	\$8,500.00	\$6,500.00
		Total	Base Bid:	\$399,364.20	\$269,817.00	\$280,499.00	\$393,613.00
		ı Olai	Dase DIU.	<b></b>	\$20 <del>3</del> ,617.00	φ <b>2</b> 00,499.00	φυ <b>ઝ</b> υ,013.00

1/23/2020 Page 4 1/23/2020